= o
N & o & AF & H Al A
20218 & =04 LBHS|IH ME S E
SN MER N
HE: HASES MESE
@2 JzMEg T NFAY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Mg &t 21,065,019 20,549,438 515,581
= 17,216,329
Al 3,037,044
- 811,646
MNASE 4E82F 14,143,405 14,190, 505 247,100
= 12,631,808
Al 1,046,758
- 464,839
Iz XNJAY 14,123,449 14,120,949 2,500
= 12,631,808
Al 1,031,758
- 459,883
MBI SE X2 AL 52,500 52,500 0
Al 52,500
301 LPEAF 52,500 52,500 0
Al 52,500
01 MEI2E X253 52,500 52,500 0
OF=R=3u E=4.]] 6,500,000 6,500
Al 6,500
OXtH n EHl 46,000,000& 46,000
Al 46,000
== 8,129 8,129 0
308 AXIEHS0IA 8,129 8,129 0
08 WEIIZ20HStE X 8,129 8,129 0
(OFME=J=10; 8,129,000 8,129
HAS K 9,572,889 9,572,889 0
= 8,615,600
Al 670,102
- 287,187
301 LEAF 9,572,889 9,572,889 0
= 8,615,600
Al 670,102
- 287,187
01 MI28E +06l= 9,572,889 9,572,889 0
OMASN 9,572,889,000& 9,572,889
= 8,615,600
Al 670,102
T 287,187
FAH=SN 4,320,231 4,320,231 0
= 3,888,208
Al 302,416
T 129,607
301 LEXZ 3,792,911 3,792,911 0
= 3,413,620
Al 265,504




2N

> 0z
P B> e
(]

2%
B YASE MESE
@2 JzMEg T NFAY
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e

- 113,787

01 MEIBZE 06z 3,792,911 3,792,911
ZAS0(LRBO) 3,792,911,0002! 3,792,911
=2 3,413,620
Al 265,504
- 113,787

403 A X EHHS 20l A 527,320 527,320
= 474,588
Al 36,912
- 15,820

02 SO 2SOlCHEH A2 X 2 & A I 527,320 527,320
OFAHASH (=82 XS0) 527,320,000 527,320
- 474,588
Al 36,912
T 15,820

A EH SO (L8 82,000 82,000
= 73,800
Al 5,740
T 2,460

301 LEAZ 82,000 82,000
= 73,800
Al 5,740
- 2,460

01 MEIBEZE 05z 82,000 82,000
Ot &t EH S04 (L EH) 82,000,000& 82,000
= 73,800
Al 5,740
T 2,460

HAEMSH(AE) 10,000 10,000
= 9,000
Al 1,000

301 LA S 10,000 10,000
= 9,000
Al 1,000

01 AR 2Z A5l 3 10,000 10,000
Odi &t EH S0 (A E) 10,000, 000& 10,000
= 9,000
Al 1,000

Heum XY 45,200 45,200
=2 45,200

301 gEd = 45,200 45,200
= 45,200

01 MI2EZE 6= 45,200 45,200
OF=F 2= &bl 45,200,000& 45,200
= 45,200

BRI £2 024 SU 2ARH2 N 30,000 30,000




2N

> 0z
P B> e
(]

25
HE: HASES MESE
@2 JzMEg T NFAY (&)
SN HH-S(BN) - MBAY - B il HlnE2
307 glz2tol & 30,000 30,000 0
01 2=zL =4l 30,000 30,000 0
Ol 2283 30,000, 000& 30,000
FHUAHNS SXNSE AMHEF 2,500 0 2,500
203 R =&l 2,500 0 2,500
03 A BFAHR =AY 2,500 0 2,500
OFHAANE =XE 2,500,000 2,500
HALHAES KA 15,000 66,000 251,000
Al 15,000
2484 IZ2ES0 15,000 66,000 251,000
Al 15,000
301 LEAF 15,000 66,000 251,000
Al 15,000
01 A EE 563 15,000 66,000 251,000
Ozl M &A= Xl 11,250, 000& 11,250
Al 11,250
ORJ)a0 3,750,000& 3,750
Al 3,750
sSEE el 4,956 3,556 1,400
S X AL2tel 4,956 3,556 1,400
201 LB-2E| 4,956 3,556 1,400
01 At 2t 2l 4,956 3,556 1,400
OSE XA~ 22l
,000& 6% 22 1,056
OMIIEZSHAY = 1,900,000& 1,900
O=XH0lE= H 2,000& x1,0008 2,000
HASE U =24 2,652,268 2,765,597 A 113,329
= 2,311,140
Al 272,398
- 68,730
HASESE A& N 2,652,268 2,765,597 A 113,329
= 2,311,140
Al 272,398
- 68,730
2=z , 149,187 2,149,187 0
= ,934,268
Al 150,443
- 64,476
307 21201 A , 149,187 2,149,187 0
= ,934,268
Al 150,443
- 64,476
11 ALS S XAEE = , 149,187 2,149,187 0




2N

X{ XH -
S =

> 0z
B b

Jn i

£ (29l & 2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Oz Atd 2,149,187,000& 2,149,187
= 1,934,268
Al 150,443
T 64,476
EHHS 21,790 131,444 A 109,654
= 19,611
Al 1,525
- 654
301 LPEXSZ 21,790 131,444 A 109,654
= 19,611
Al 1,525
T 654
01 AL EE 563 21,790 131,444 A 109,654
Oolgde=s 21,790,000 21,790
= 19,611
Al 1,525
T 654
ANExredy X 278,711 278,711 0
= 195,097
Al 83,614
307 2Iztol ™ 278,711 278,711 0
= 195,097
Al 83,614
10 M3 SXNANEHI2IHES 278,711 278,711 0
OXN<gxtady 294l 278,711,000& 278,711
= 195,097
Al 83,614
NETady 2@ 2X==& 19,200 18,600 600
Al 15,600
T 3,600
307 g2+l & 19,200 18,600 600
Al 15,600
- 3,600
10 M SXNANEHE2IHE=X 19,200 18,600 600
OXgiady A¥ sX+2 15,600, 000& 15,600
Al 15,600
OBIZFALSI S XA X <0 A bl
50,0003 x6H x128 3,600
22sgdE =2 €3RI (LS ESET) 43,038 43,038 0
= 37,961
Al 5,077
307 21201 A 43,038 43,038 0
= 37,961
Al 5,077
11T MISXAISEEX 43,038 43,038 0
O3NS S E1 43,038,000& 43,038




SN MBREDY
B YASS NEIlM 24
G MASES g I
. _ SfE|
S - MBS (BH) - NRAY - BAS ol &k o8 %Eﬁ
= 37,967
Al 5,077
25EUE 323X €2 XNH(FUIISESE?2) 75,830 75,830
= 66,986
Al 8,844
307 2Iz2t0| A 75,830 75,830
= 66,986
Al 8,844
11T A EXAIEEX 75,830 75,830
O3 YINsSESA2 75,830,000 75,830
= 66,986
Al 8,844
22sUs +300 FLSNA(ULISEE) 15,536 15,536
= 14,032
Al 1,504
307 giztol A 15,536 15,536
= 14,032
Al 1,504
11T A EXAIEEX 15,536 15,536
OUgIIssd 15,536,000& 15,536
= 14,032
Al 1,504
22s8Aes =319 €3N (FEUSUIISEH 29,557 29,557
)
= 25,878
Al 3,679
307 giztol A 29,557 29,557
= 25,878
Al 3,679
11T AISIEXAIEEX 29,557 29,557
OGS EH 29,557,000 29,557
= 25,878
Al 3,679
22sEdEse =29 €42 N (EEMEAHT 19,419 19,419
= 17,307
Al 2,112
307 QI2t0| & 19,419 19,419
= 17,307
Al 2,112
A EXAEEX 19,419 19,419
OFENEAHE 19,419,000 19,419
= 17,307
Al 2,112
&t E=PNESRN 4,184,254 3,570,836
= 2,273,381
Al 1,717,888




SN MER N
M HOe =2XNE5E
el Zojel =2XEH CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 192,985
e =XsA 4,184,254 3,570,836 613,418
= 2,273,381
Al 1,717,888
T 192,985
ZOoHo A A 2,060 6,560 A 4,500
201 ¢er24| 2,060 1,560 500
01 At 22l 2,060 1,560 500
OZOMAXNSIEX P 800& 7004 560
OBWARBFX TS ER28E 7Y
1,000, 000& 1,000
OFABSAE QIS B2 AASAR =5
100,000 x5 13| 500
ZopeIXIggo 2283 E X 35,663 35,663 0
Al 25,563
T 10,100
307 glz2+ol & 35,663 35,663 0
Al 25,563
T 10,100
10 ALSISXAIEEE2EHEX 35,663 35,663 0
OFHQIKIG Lo 22XAF X
35,663, 000& 35,663
Al 25,563
T 10,100
== X= 200,740 206,041 A5,301
= 140,518
Al 60,222
301 LEAZ 200,740 206,041 A5,301
2 140,518
Al 60,222
01 MEIBEZE 06z 200,740 206,041 A5,301
OZM=% X2 200,740,000& 200,740
= 140,518
Al 60,222
T (Ha2) Xz 100,870 102,730 A 1,860
= 70,609
Al 30,261
301 LA F 100,870 102,730 A 1,860
= 70,609
Al 30,261
01 MEIBEE 263 100,870 102,730 A 1,860
QXM= (X&) N2 100,870, 000& 100,870
= 70,609
Al 30,261
Zofe MEs¢ 54,480 51,000 3,480




SN MEEED
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 54,480
301 LEXZ 54,480 51,000 3,480
Al 54,480
01 MEI2EZE 405z 54,480 51,000 3,480
OFoHel MHe=< 54,480,000& 54,480
Al 54,480
Zofel o 2Hl X 79,026 94,834 A 15,808
= 63,220
Al 15,806
308 XXIELHSOIA 79,026 94,834 A 15,808
= 63,220
Al 15,806
13 2SOIHetE & X 2 E A I 79,026 94,834 A 15,808
O&oer o=zl 79,026,000 79,026
= 63,220
Al 15,806
HAsSEe ML L ZAH XI& 1,200 1,200 0
= 600
Al 600
301 EEEd = 1,200 1,200 0
= 600
Al 600
01 Ml2ZE 6= 1,200 1,200 0
OMASZEHR &AEH 2 HAH X2
1,200,000 1,200
= 600
Al 600
SOHIERD| R NE 1,875 2,000 A125
= 1,500
- 375
301 LeHBAF 1,875 2,000 A 125
= 1,500
- 375
01 MI28HE+06l= 1,875 2,000 A 125
OFOHe e ExXI|2 1,875,000 1,875
= 1,500
T 375
Z0iots =AESAE 28 XA 90,275 87,000 3,275
Al 90,275
307 glz2tol & 90,275 87,000 3,275
Al 90,275
10 ALl SXAIEEE2EH EX 90,275 87,000 3,275
OFOel =2AESAIE ol2H| 78,075,000& 78,075
Al 78,075




2N
X ZH -
L= B

el

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
OFM F2AHE2SAIE 2YHI
1,000,000& »12& 12,000
Al 12,000
OXHQ F2AEBSAIE SXZE
100, 000& »2H 200
Al 200
ZOHAXATHEANE 2 XN& 242,961 196,987 45,974
Al 242,961
307 glz2tol & 242,961 196,987 45,974
Al 242,961
10 AL SXNAIEEE2EH EX 242,961 196,987 45,974
OFOHQ HATHEAIL 1248l 201,858,000& 201,858
Al 201,858
OXZOHC HATHE AL 2FH| 19,535,000& 19,535
Al 19,535
OFoel HIMEAE S4lH| 21,168,000 21,168
Al 21,168
OHM HNATHEAE SXNELUE
100, 000& »4H 400
Al 400
Zoel F=2AE2SAE 28 A& 145,000 0 145,000
307 izl & 145,000 0 145,000
10 ALSISXAIEEE 22X 145,000 0 145,000
OFOHel =2ES AL 1244l 128,700,000& 128,700
OXZOHL =2AESAIE 2FH| 16,000, 000& 16,000
OO F2AESAE SXELE
100,000& »3H 300
o sX=2d XS 1,090,862 967,032 123,830
= 763,603
Al 327,259
307 gl2tol & 1,090,862 967,032 123,830
= 763,603
Al 327,259
05 RIZIRIE 3 1,090,862 967,032 123,830
OFHe gsXNA=SH X&  1,09,862,000& 1,090,862
= 763,603
Al 327,259
O ESKH IS0 XA 600 0 600
= 420
Al 180
307 glz2+ol & 600 0 600
= 420
Al 180
05 RIZtE = 600 0 600
OFerasX& JtatZnd XI& 600,000 600

_8_




SN MER N
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 720
Al 180
FoelesXIE AlBIZ=IHX& 86,508 78,798 7,710
Al 86,508
307 gl2tol & 86,508 78,798 7,710
Al 86,508
05 BIZHRI & 3 86,508 78,798 7,710
OFH &S XA AlBIZ=ILXA  86,508,000& 86,508
Al 86,508
ZHUESKNEAANY 29 4,850 3,320 1,530
201 Let24E] 4,850 3,320 1,530
01 At 22l 4,850 3,320 1,530
Ox== A3 =&  100,000& «3& x122] 3,600
OMBII2 XNE MAS =
100,000& 53 »23| 1,000
OfRIZEEZFY S ARSI 250,000& 250
s SH A= 1,209,591 1,106,590 103,001
= 846,714
Al 362,877
301 LEHZ 1,209,591 1,106,590 103,001
= 846,714
Al 362,877
01 MI2EZE 406z 1,209,591 1,106,590 103,001
OFeld=za S X2 1,209,591,000& 1,209,591
= 846,714
Al 362,877
ZOHQI L Xtel K2 (Lot Xtel) 382,532 322,258 60,274
= 191,266
Al 191,266
301 LEPEXF 382,532 322,258 60,274
= 191,266
Al 191,266
01 MEIBEEE 2053 382,532 322,258 60,274
QX LIl X2 (Lot dRtel)
382,532,000& 382,532
= 191,266
Al 191,266
ZoNer Y Xel K& (Al 2EH L Xrel) 63,790 49,604 14,186
= 31,895
Al 31,895
301 LEXZ 63,790 49,604 14,186
= 31,895
Al 31,895
01 MEIBEE 2063 63,790 49,604 14,186




SN MER N
Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXOHQI L Xtel K2 (A EAL Xtel)
63,790,000 63,790
= 31,895
Al 31,895
Zojeld el X (2XLRal) 156,530 140,450 16,080
= 78,265
Al 78,265
301 et A= 156,530 140,450 16,080
= 78,265
Al 78,265
01 Al E & A %52 156,530 140,450 16,080
OZofd Xl XN (=X Ael)
156,530,000 156,530
= 78,265
Al 78,265
S THE A A BIRSH K& 50,181 62,623 N 12,442
= 35,127
Al 15,054
307 S12t0| & 50,181 62,623 N 12,442
= 35,127
Al 15,054
05 QIZ2t EF 2 50,181 62,623 N 12,442
OYYHEAMEIA BI2H XN 50,181,000 50,181
= 35,127
Al 15,054
HAHELEX HRH AH 2,000 2,000 0
= 1,400
Al 600
307 2izto| A 2,000 2,000 0
= 1,400
Al 600
05 QIZ2tE 2 2,000 2,000 0
OdeeXad H=2d N 2,000,000& 2,000
= 1,400
Al 600
ZOCIEs EXNNAYE XA 28,600 28,600 0
307 QI2t0| & 28,600 28,600 0
11T A EXAIEEX 28,600 28,600 0
OZHel EXAIY X & 20,600,000 20,600
OZoHel AN K& 8,000,000& 8,000
E &R SatHIE X 1,000 2,000 A 1,000
= 700
Al 300
301 et A =2 1,000 2,000 A 1,000
= 700
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SN MER N
Hu: ool =XEZ
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 80,000 0 80,000
OXOHQI & MadE elAd] 42,296,000 42,296
Al 42,296
OFMAXSHMEHE 2 & AL
37,704,000& 37,704
Al 37,704
LN FAESMHUIA AMHIFIHXR 3,140 0 3,140
Al 3,140
307 glz2tol & 3,140 0 3,140
Al 3,140
05 RIZt2IE = 3,140 0 3,140
OLG T F2ESMHHA AIHIFIHAA
3,140,000& 3,140
Al 3,140
MY (MEEED) 62,592 0 62,592
Jl2 &3l 62,592 0 62,592
fAMII2ZHl 62,592 0 62,592
201 ¢er24| 9,072 0 9,072
01 At 2t 2l 9,072 0 9,072
ORM2Y JlE2+8H| 279,000& 16 ¥ 4,464
OJlege+8 S&tdl 8,000&*34«16H~12& 4,608
202 O4dl 49,920 0 49,920
01 = LH 4 Hi 49,920 0 49,920
OJlege=8d ol 260,000& x16H «12& 49,920
203 YR =&t 3,600 0 3,600
04 FN2ELRZ=TH| 3,600 0 3,600
ORNZR2Y 300,000& »12& 3,600
Heas(Me2dn) 22,500 22,500 0
HEHHX S 22,500 22,500 0
=220 II= EESAH ML =2 22,500 22,500 0
701 JIEtSI HETES 22,500 22,500 0
01 JIEtSIHEES 22,500 22,500 0
OY=S=SHEEIH HES 22,500,000& 22,500




